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PROBLEM I - Multiple Choices Set A (2 points each, 26 points in total)

1. It is normally accepted that men should have less than 18% total body fat and women 23% or less.
However, experts suggest that an excess is not particularly dangerous to health until an individual
35% and 40% total body fat separately.

(A)achieves (B) arrives (C) accommodates (D ) accumulates

2. The cheapest way to provide water in the dry tropics is through small-scale projects, such as gathering

rainfallin  and pumping it to cropland.
(A) dents (B) depressions (C) ponds (D) dimples
3. Schools these days are _ with complex questions on how to deal with cyberbullying.
(A) absconded (B) contacted (C) manipulated (D) confronted
4. One of the assumptions on which Frito-Lay bases its dcyelopment ~__is that consumers
worldwide today are attracted by global brands.
(A) strength (B) weakness (C) strategy (D ) manipulation
5. The automatic | . ’sdownside is the wand-shaped console lever that can leave a driver restless..
(A) transmission (B) transference (C)/transcript (D) transection
6. Weaknessand | ' are terms that are often.used as if they mean the same things, but in fact they
describe two different sensations.
(A) faint (B).. potency (C) fatigue (D) swoon
7. Weshould develop | [ ‘eonscience in order to build & caring world.
(A) communal (B) community (C) social (D) collective
8. It is predicted that in decades machines of silicon will arise first to ~_ and then exceed their
human ancestors.
(A) unite (B) ally (C).league (Dysrival
9. Thereare living in every habitable nook and cranny of the Earth.
(A) ova (B) viruses (C) sperms (D) bacteria
10. Some people think that feeding both the jailer and the prisoner is not a sustainableor ~ policy.
(A) ludicrous (B) sensible (C) absurd (D) ridiculous

11. At the present level of research spending, it is difficult to make any significant progress in the
of energy from the sum.

(A) Arrangement (B) stipulation (C) provision (D) condition
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12. - cultural differences have led to an unparalleled increase in global public relations.

(A) Expanding (B) Shrinking (C) Increasing (D) Raising

13. Aboywhowas _inthe toilet of his home in Japan for 11 days by his mother and rescued later
has told police she gave him only bread for his meal since last fall.

(A)hampered (B) obstructed (C) cramped (D) confined

PROBLEM II - % F 7] 3% X B % #13% ALl € + X (24 points)

According to the 2014 survey study focused on Awstralia’s top accounting firms, fee negotiations, revenue
generation and competitive activity are the'three big busincss challenges for accounting firms in the current

market conditions.

As clients continue to push price”down, accounting firms have and/or.are in the process of implementing
systems and technologies to drive further efficicncies.and reduce expenses. The need to win new business and
increased competition has tesulted in the entry of the Big 4 inte the middle tier market and the emergence and
expansion of non-traditional competitors with different business models. As the industry becomes
hyper-competitive it is crucial for accounting firms to deepen their understanding of clients and the real reasons

for clients’ purchasing decisions.

In line with one of the key challenges facing accounting firms, clients rate price as the second most critical
factor when making the final purchase decision. That said, it is of immense importance for accounting firms to

invest in building client relationships and.champion business development.

PROBLEM III - Multiple Chcices Set B (2 points each, 20 points in total)

Architecture is the art and science of designing structures that organize and enclose space for practical and
symbolic purposes. Because architecture-grows out of human.needs and aspirations, it clearly communicates

cultural values. Of all the visual arts, architecture affects our lives most directly for it determines the character

of the human environment in major ways.

Architecture is a three-dimensional form. It utilizes space, mass, texture, line, light, and color. To be
architecture, a building must achieve a working harmony with a variety of elements. Humans instinctively seek
structures that will shelter and enhance their way of life. It is the work of architects to create buildings that are
not simply constructions but also offer inspiration and delight. Buildings contribute to human life when they
provide shelter, enrich space, complement their site, suit the climate, and are economically feasible. The client
who pays for the building and defines its function is an important member of the architectural team. The

mediocre design of many contemporary buildings can be traced to both clients and architects.
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In or;ier for the stfuctu‘re to achieve the size and strength necessary to meet its purpose, architecture employs
methods of support that, because they are based on physical laws, have changed little since people first
discovered them-even while building materials have changed dramatically. The world’s architectural structures
have also been devised in relation to the objective limitations of materials. Structures can be analyzed in terms
of how they deal with downward forces created by gravity. They are designed to withstand the forces of
compression (pushing together), tension (pulling apart), bending, or a combination of these in different parts of

the structure.

Even development in architecture has been the result of major technological changes. Materials and methods of
construction are integral parts of the design of architeeturg structures. In earlier times it was necessary to design
structural systems suitable for the materials that'were available, such as wood, stone, brick. Today technology
has progressed to the point where it is possible to invent new building materials to suit the type of structure
desired. Enormous changes in_materials and techniques of construction within the last few generations have
made it possible to enclose’Space with much greater easc and speed and with aminimum of material. Progress in
this area can be measured by the difference.in weight between.buildings built now. and those of comparable size

built one hundred ago.

Modemn architectural forms generally have three separate components comparable to elements of the human
body; a supporting skeleton or frame, an outer skin enclosing the interior spaces, equipment, similar to the
body’s vital organs and. systems. The equipment includes plumbing, electrical wiring, hot water, and
air-conditioning. Of course in early architecture—such as igloos and adobe structures—there was no such

equipment, and the skeleton and skin were,often one.

Much of the world’s great architecture has been constructed of stone because of its beauty, permanence, and
availability. In the past, whole\cities grew from the arduous task of cutting and piling stone upon. Some of the
world’s finest stone architecture ¢an be seen in the/fuins of'the ancient Inca city of Machu Picchu high in the
eastern Andes Mountains of Peru. The doorways and windows are made possible by placing over the open
spaces thick stone beams that support the weight from above. A structural invention had to be made before the
physical limitations of stone could be overcome and new architectural forms could be created. That invention
was the arch, a curved structure originally made of separate stone or brick segments. The arch was used by the
early cultures of the Mediterranean area chiefly for underground drains, but it was the Romans who first
developed and used the arch extensively in aboveground structures. Roman builders perfected the semicircular
arch made of separate blocks of stone. As a method of spanning space, the arch can support greater weight than
a horizontal beam. It works in compression to divert the weight above it out to the sides, where the weight is
borne by the vertical elements on either side of the arch. The arch is among the many important structural

breakthroughs that have characterized architecture throughout the centuries.
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According to paragrai)h 1, all of the following staterﬁents about architecture are true EXCEPT:
a. Architecture is visual art.

b. Architecture reflects the cultural values of its creators.

c. Architecture has both artistic and scientific dimensions.

d. Architecture has an indirect effect on life.

_ Which of the sentences below best expresses the essential information in the first sentence of paragraph 3?

a. Unchanging physical laws have limited the size and strength of buildings that can be made with materials

discovered long ago.
b. Building materials have changed in ordertesinerease architectural size and strength, but physical laws of

structure have not changed.
c. When people first started to build, the structural methods used to provide strength and size were
inadequate because they were'not based on physical laws.

d. Unlike building materials, the methods of support used in architecture have not changed over time

because they are based on physical laws.

The word “devised” in the passage is closest in meaning to
a. Combined

b. Created

¢. Introduced

d. Suggested

The word “integral” is closet in meaning to
a. Essential
b. Variable
c. Practical

d. Independent

According to paragraph 4, which of the following is true about materials used in the construction of

buildings?

a. Because new building materials are hard to find, construction techniques have changed very little from
past generations.

b. The availability of suitable building materials no longer limits the types of structures that may be built.

c. The primary building materials that are available today are wood, stone, and brick.

d. Architects in earlier times did not have enough building materials to enclose large spaces.
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. In paragraph 4, what_ does the author imply abbut modern buildings?

. Which of the following correctly characterizes the relationship between the human body and architecture

. The word “arduous’” in the passage is closest in meaning to
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a. They occupy much less space than buildings constructed one hundred years ago.
b. They are not very different from the building of a few generations ago.
c. The weigh less in relation to their size than buildings constructed one hundred years ago.

d. They take a long time to build as a result of their complex construction methods.

that is described in paragraph5?

a. Complex equipment inside buildings is the one element in modern architecture that resembles a
component of the human body.

b. The components in early buildingsWereiSimilar toithreesparticular elements of the human body.

¢. Modern buildings have components that are as likely to'change as the human body is.

d. In general, modern buildings'-more closely resemble the human-body than earlier buildings do.

a. Difficult
b. Necessary
c. Skilled

d. Shared

Why does the author include a description of how the “doorways andiwindows” of Machu Picchu were

constructed?

a. To indicate that the combined skeletons-and skins.of'the stone buildings of Machu Picchu were similar to
igloos and adobe structures

b. To indicate the different kinds of stones that had to be cut to build Machu Picchu

¢. To provide an illustration ofithe kind of construction that was required before arches were invented

d. To explain how ancient builders reduced the amount of time necessary to construct buildings from stone.

According to paragraph 6, which of the following statements is true of the arch?

a. The Romans were the first people to use the stone arch.

b. The invention of the arch allowed new architectural forms to be developed.

¢. The arch worked by distributing the structural of a building toward the center of the arch.

d. The Romans followed earlier practices in their use of arches.




BEsAkE 105 2 FRAIHEAF AR
¥6H £ 6 R

%'ﬁffJ FHIFEXAA oAl GIEMAA FREM2A 27THG) EH

PROBLEM IV - % X B4 A (15 )

Do you agree or disagree with the following statement?

“Technical change is increasingly taking the form of capital that effectively substitutes for labour.”

Use specific reasons and examples to support your answers.

PROBLEM YV - 3% X &4 B (15 o)
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